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(b) Prepare the optimum product mix (optimum production schedule) that will
maximise profit.

(4)

(c) Calculate the profit resulting from the product mix (production schedule)
identified in (b).
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(d) Identif] tJNO limiting ffactors for a business, ather than machine hours.
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(a) Calculate the profit for the period as shown in the cost accounts using a profit
reconciliation statement.
(16)
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(b) Explain why it is necessary to undertake a reconciliation in a non-integrated
accounting system.
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(a) Calculate, for the proposed investment in each machine, the:

(i) net present value
(6)
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S5 (b) Advise the company which machine to purchase, giving one reason for your
s answer.
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Costing techniques are used for long-term decision making and short-term decision
making.
(c) State one example of each of the following and one costing technique that might
' be associated with that example.
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(c) Explain two of the characteristics of effective management information.

(Total for Question 4 = 20 marks)
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The company is now considering using activity based costing (ABC) to calculate the
production overhead costs of each product.

The following overhead and cost driver information is available for the period:

Activity Cost Cost driver
($)
Cutting 69 000 Number of operations
Forming 33000 Number of operations
Machine set-up 7 000 Machine set-ups
Inspection 45 000 Inspections
Material handling 22000 Material requisitions
Exe Whye
Cutting 12 operations per unit 8 operations per unit
Forming 2 operations per unit 3 operations per unit
Machine set-up | 1 per batch 1 per batch
Inspection 2 per unit 2 per unit

Material handling

Both products are made from the same raw material that is issued in single sheets
against a materials requisition.

One sheet of material will make 20 units of Exe and 16 units of Whye.
No wastage of materials is expected.

(b) Calculate the total production overhead cost (to two decimal places) for one unit
of Exe and one unit of Whye using activity based costing.
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(c) Explain two disadvantages the company might face if it decided to introduce
activity based costing.
(4)

(Total for Question 5 = 20 marks)

TOTAL FOR PAPER = 100 MARKS
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